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Lﬁ) -'. The ALU of a computer is implemented in the form of a PLA .-+ .. It accepts two

2-bit numbers A and B, a carry input C.,, and a 2-bit function input F. The output of the ALU

C‘ f ’/ ) consists of a 2-bit result Y and a carry output Co. The operation performed by the ALU is
° determined by the function inputs according to the following table:

F Fo  Operation Cu

0 0 A+B Carry output
0 1 AyB 1
1 0 ANB [
1 1 Avi 0

Design the required PLA by defining its product and sum terms. You should attempt (o use as few
product terms as possible.
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kb } ¢ Consider the following state of the PDP-11;
) Register R; contains 1000 .
[ & : Register R, contains 2000
( p/’) ’ M y location 1000 ins 2000
M y location 2000 ins 3000
y location 3000 ins 1000

All numbers are in octal (base 8) notation.
For the following three instructi cach d from the above initial state, what is the

effect of executing each instruction? How many words does each instruction occupy? How many
memory accesses does the fetching and execution of each instruction require?
{a) ADD R1,@R2
(b) ADD 1000(R1),@R2 '
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